. VCE & PDF https://www.pass4itsure.com/1d0-571.html
g 2024 Latest passditsure 1D0-571 PDF and VCE dumps Download

PassditSure.com

1D0-57198AS

CIW V5 Security Essentials

Pass CIW 1D0-571 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1d0-571.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CIW Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

1D0-571 VCE Dumps | 1D0-571 Study Guide | 1D0-571 Braindumps 1/3


https://www.pass4itsure.com/1d0-571.html
https://www.pass4itsure.com/1d0-571.html
https://www.pass4itsure.com/1d0-571.html

VCE & PDF https://www.pass4itsure.com/1d0-571.html
a 2024 Latest passditsure 1D0-571 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Consider the following series of commands from a Linux system: iptables -A input -p icmp -s 0/0 ? 0/0 -j REJECT Which
explanation best describes the impact of the resulting firewall ruleset?

A. Individuals on remote networks will no longer be able to use SSH to control internal network resources.
B. Internal hosts will not be able to ping each other using ICMP.

C. Stateful multi-layer inspection has been enabled.

D. Individuals on remote networks will not be able to use ping to troubleshoot connections.

Correct Answer: D

QUESTION 2

What is the first tool needed to create a secure networking environment?
A. User authentication

B. Confidentiality

C. Security policy

D. Auditing

Correct Answer: C

QUESTION 3

At the beginning of an IPsec session, which activity occurs during the Internet Key Exchange (IKE)?
A. Determining the number of security associations

B. Negotiating the authentication method

C. Determining the network identification number

D. Negotiating the version of IP to be used

Correct Answer: B

QUESTION 4
At what layer of the OSI/RM does a packet filter operate?

A. Layer 1
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B. Layer 3
C. Layer 5
D. Layer 7

Correct Answer: B

QUESTION 5

You have determined that the company Web server has several vulnerabilities, including a buffer overflow that has
resulted in an attack. The Web server uses PHP and has direct connections to an Oracle database server. It also uses
many CGI scripts. Which of the following is the most effective way to respond to this attack?

A. Installing software updates for the Web server daemon

B. Using the POST method instead of the GET method for a Web form

C. Installing an intrusion detection service to monitor logins

D. Using the GET method instead of the POST method for a Web form

Correct Answer: A
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